A/

=DF

DE, AC

@ AB=

= DF

EF, AC

® BC =

@ /B =/E, /A= /D

® AB=DE, /A =/D

= DF

® /B =/E. AC



2. A ABCD of|A AB = 7, BC = 3x-2y, CD = —2x+7y, DA = 15
o off, AH2FE ABCD 7} HaAMA g o] HEE St x,y o #h& 7ot
ofzt,

A D

o

g ©

1L

<
I



PPAAE ABCD ©] AB, CD $Jo] AE =
CF 7} HE2 & H E, F & 32 u], DAECF
+ ol® Atz o] w=2] ofofet.

e
-

A



4.

@ 1lem @ 12cm ® 13cm @ 14cm ® 15cm






6.

V5 €] 2% RS a2

@ 10a+ 10

@ 10a - 10

ke1g
=

], V500 2 a & AFR5te] YERE?

@ 10a +20 ® 10a
® 10a - 20



2 1904 nABCD = HafAIHAP 0| F
2AB = AD ©|t}. FD = DC = CE ¢ u,
DABGH + o® AR RI7F? &, 2/FPE 9] H
A D
2712 "7‘
B GC
E

ARk, 90° @ AN, 180°

©

ALY, 180° @ "HER, 90°

©

® v=1 180°



8.

o 20l H G £ AABC 9] #ASA et} DE // BC
,AB//EH € 9, DE + DF + EH & s}ojat.

A

12cm §\15cr\n
’ G o
!

D S En

NANREVAN

C
-

,DF // AC



thS 23 go] AAZEE ABCD UjHo
4 2 PQRS 7F ot AR 9] ¢t
# o] Zo]o] u]7} 5 : 3 o] 31, MAF FE O
wol7F96cm? ¥ wf, bABCD 9] Yo]&=?

@ 70cm?2 @ 90cm?

® 110cm? @ 130cm?

3 150cm?

A

Q




36cm?

85cm?







12.

500 92 E2 2719} 100 942 5
71—71— Sk 7H o]ﬂ- A}Q_o].oq ;q

® 2714
@ 5717

54 3707} QIek. ¥ 44 5

e FHnE
@ 3714 3 47}
® 6714

A0

=9
T



13. % A9 47k A, B 7} Slek AR Aol w74 3, WY 2& 5
A7k ol 93, 42 Bole w3 T 47), W & a7k ol 9L
o} g} S Eotel T2 T A4S 7 1), w3t 75 8L



2 50 AR G o, A WA 0 S

T

2 2 V2 V2
5 O @4 O



e R

vl

As n2d?

Mo
o

® 172 Aole] 1 Aol fe 47t ek,
@ -5 2 -3 Apolol= 3471 glet,
® 075 Apololi 3471 6 A ek,

@ 03} V3 Aolel 749 g 7ol



16.

the 1" Zol «C
10cm, 6cm Q1 & ZH4F7He
o R = D e e
4olE Fsfoiet.

90° ©]a ¥ AB, AC 9] o7} Z7}
ABC |4 /A 9] o]5H o] ¥ BC ¢}
B DC 9 Zo)7} 3em € o, A& BD 9]

—

d

2 ofh Il
o




17.

iﬂral%} ABCD 9|4 H G, E, F = ZZ+
AD, BD, BC 2] £%o|t}. AGEF 2] Yo]
£ ohd?

@D 1cm? @ 2cm? ® 3cm? @ 4cm?



18. o A 919 M A,B,C, DO H35h= = V2, V3+
4— 30|tk A A, B, C, Dol ]-&5t= s 7t c
W, a+ bt ¢ +d 2] S 242 2 A 73 A2

\3_]:1_1
8
S

@ V2+ V3+2, V2- V3+3
@ V2+ V3+3, V2+ V342
® V2-V3+3, V2+ V3+2
@ 2v2-1,6
® 6,2v2-1



19.




20.

1561 1000 742] €] =}

e Edtete 58

=g
=¥



